BN — PR ER R
—. HGUARA: AT/ SME4, 3285, EEMEAHINIAET, R
R4 BRI

A:{x3’“<1}, B={x‘x2—x—6>0}, wANB= ()

1. 2

o2
2. e 8D Ly GosesD, Mz =

z
A 1+ B. 1-i C. —1+i D. —1-i
2 2
3.aﬂﬂ%%cx%-%clW>Qb>mMﬁﬁ%ﬁﬁﬁy:ﬁx,ma@%c%%@$ﬁ< )
a
A. g B. 5 C. % D. J6

4. BRISEWET{a, |, a), a, BT Y —10x+16=0 WP, Way, -ay-a (0EAR ¢ O

A. 64 B. +64 C. 256 D. 256

5. MME (ATEHT 5-6 A, M2 2 T, RREFRRRMECEER. ML T 5, <RFHEHE,
PRS2 33 )  EA / 5 ) J LR A 7 T 25 A BK TE AB T T R A e, U A LA
ERIPR BRI S, 2S5 BILE P 7 3Gt a0 A B KRB R UAIRIR B, e mane — T— B 2 4F. sk

AR 5 8 A e e P P e e 1. in B IRTHI BR8N 26, @8 a BRI K 82 25 T RIHEA R
R BCE T R —FiH B L. LA B WP EFH BT & T arg 5 Sy Jo Sy Wi,

ATLMIEM] Sy = Sy BURGL. Hatt, FHK Y 4, KA 6 BIFERIE IR O.



a
|
I
|
X
A. 87 B. 127 C. l6r D. 24rx
6. BHL(x) = 8 R ks
l:_r Ir tr hy
o | h i
A. -r:ﬁﬁ’“r'_'_* B. "_"‘l:u-_'r"T'_""___ 1:._-;. e C. “"'“Iﬁ B D. "'__;“l‘-.‘:.r_'f,‘l"*_}

7. %@%&f(X)=ex(sinx+acosx)ﬁ(%,%J$iﬁiiii, MISEH 2 TSR )

A (0] B. (-, ¢. [l+0) D. (L+)

. BUUERE: AEL3NE, §AOES, 12 ERMEEHNEEY, FEHFE
B HEREIEN G 4 70, BENKE 2 2, FHRENS 0.

s. I, ZFAIERIES AT TRIIG, A% 10 4, RALTIR 40 1, LA MLl St

WK PR, WA IESKA ¢ )

H 4
8109
3 2(1|1 3 4 89
76542 0(2|/01 13
713
H s Atz 29 B. M M hidiveg 25
C. Witk 2 D. i P AR 21

q. ¥ ﬁf@)3m{hﬁ j%@%ﬁﬁ$@—A$uﬁF%@@%ﬂFW Hgx), FHIMTREE

g() YL IEMMZ ¢ D



A. @%%?Eéﬁx:—%ﬁ%ﬁ B. %%?(%,Oj*fudﬁﬁ

C. HJx= E—i—kﬂ(k € Z) W H4S & KA D. fEX[H |:E E:| b R

10. M, NIRINZEIR ABCD WA BC, COWIT R, RBELIN MLk ACTE, fa DAETIH ABC

W, MIERIITERE S, FAISSRIEMAE ¢ D

D

A

A. MN/ Vi ABD
B. RMELZ ACYH MN TR NEE

C. fE 1M D — AC — BZ# /NIRRT, =M D — ABC SMERRKEARZ N E KR
D. HAAERNMIE, HRELK AD 5HLE BCER, W LABC E‘JWTE?@%(Q%)

HER: KB4 /M8, BME3 5, k1250,

11. IEANWUE ABCPEFiHK N1, W AB - AD=____

2 <0
12, CRIEE f(x) = { = f(a)=2, MTH affE 2
I-log,x x>0

¥ PM =3MF » W|MN|=___
14, TEEREHI {0, Ba =3, A¥d =2, EHFERIES 10 FORA, 15— G R
T REAT @ BUAN 199, WILESE 10 HAA___

0. MRERR: ABIL 5 /ME, 348 EENTH X7, EATEBEHE PR

15. WK, f£EAABCH, & PIE BCUE, B=30°, AB=+/3BP.



A
" H-:P\
N\

.-""---ff. ff; !

B P C

(1) 3R ZBAP;

i NE
(2) #CP=2, cosACAP:T, RKAACP AR,

16. WA, fE=#H: ABC-ABC ', ZBAC=60",£4,AC = LA AB,AA,= AB=AC =2, 5 O BC

A

(1) KiE: BC L Vi 440 ;

(2) # A0 =1, RKHL BB, 5V AC B Firiif WIEZHE.

17. FESEFNL R HE R K ALY, A R X IR A AR BIX R T E T A AN AT S A
R (y%) 1) J LA AH SRS B E i <

X 1 2 3 4 5

y | 902 1 005 | 01 | 015 | 018

(DR ERrh i, H /D 3Rkt y 06T x Bk B35 12
QIR LR BIHTTRE, 7 BTz LA T 3 5 A R A, JFm A _EhRad 20N H, ZaE0E
AL T 3 5 A 2 Rl 0.5%CFS R 21 ).

R Z”:'xiyi _n;;

i b=—— , §=7 B

2 —2
z X —nx
i=1



2 2
18, E%ﬂ*KﬁC:x—Z+Z—2:1(a>b>O) 7. BTEDINA, 4, . HEAHHINE F,, Bi%
a

%%,ﬁDMﬁL.@%%&AD%¢ﬁ.
(1) RHIFE CHITTE:
(2) B P, t) W ¢ FEESE—RIRNIE, & PEFZBELSME CnilZT A, B WS, HEk

PA, PB R Z AN 7T, WHZ AB R TNEME? e, REZEM: AA%, WS,

19, CHIEN f()=x—alnx—-3, g(x)=—T%acR).
X

(1) BRHh(x) = f(x)—g(x), K h(x) X 0,

(2) WFW: VYa>0, BfiEEx>1, #48 f(x)<g(x).






